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B.Com. DEGREE EXAMINATION, 2009
(SECOND YEAR)
(PART - IV)
(PAPER - 1)
231/620/630. BUSINESS STATISTICS

( Common with B.Com., International Business

and B.Com., Accounting and Finance )
( Including Double Degree & Lateral Entry )
December ] [ Time : 3 Hours

Maximum : 100 Marks

Answer any FIVE questions.
All questions carry equal marks.
(5 x20=100)

1. Describe any two methods of collecting primary

data from a finite population.
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A 40 2 65 3

B 80 5 120 6

C 60 2 80 1

D 20 2 50 2

E 15 4 40 5
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5. Define skewness and explain the different
methods of finding absolute and relative
measures of skewness.

6. Compute Karl Pearson’s co-efficient of
correlation and comment on your result :

X: 11015125120 15]40 | 50| 60
Y: [2:6]50(6:8(7-0]5-5(10-2]9-5]|12:2

7. Calculate Fisher’s price index number and verify

Time Reversal Test and Factor Reversal Test :
) 2000 2005
Commodity
Price | Quantity | Price [Quantity

A 40 2 65 3

B 80 5 120 6

C 60 2 80 1

D 20 2 50 2

E 15 4 40 5

8. Explain all the four components of a Time

Series with suitable examples.
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